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1 Nametwo pieces of legislation that are relevant to the use and operation of land
based machinery. (2 marks)

2 Describe two ways environmental damage can be minimised when operating land
based machinery. (2 marks)

3 Explainthree factors that affect the rate of photosynthesis. (3 marks)

(6 marks)

4 Describe three features of a good soi how they i t physiological processes.
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5  Describe three methods of improving poor soils conditions. (3 marks)

6  Explaintwo reasons for using the correct bar and chain combination on a chainsa (2 marks)

7  Thetreeyou are going to fell has decay in the base. State

your felling method and explain how they would imprave (2 marks)

-+ 3 See next page +
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8  Forthe following abiotic disorders and human influences, explain two impacts on tree
health for each.
a) Roadsalt. (2 marks)

b) Lighting. (2 marks)

c) Mechanical damage. (2 marks)

d)  Frost. (2 marks)
9  State the common name of eac following in the UK.

a) Invertebrate pest. (1 mark)

b) (1 mark)

c) Bacteriathat affects trees. (1 mark)
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10 State three types of environmental impact that might occur during chainsaw use. (3 marks)
11 Name four methods of pest and disease control and give an example for each. (4 marks)

12

Describe one way each of the following metho
prevent attack from pathogens.

ealthand help

a) lrrigation. (1 mark)
b) Feeding. 6 (1 mark)
c Tre rs. (1 mark)

5 See next page
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13 Youneed to carry out some sanitation felling for disease control in a woodland.
Discuss considerations you should address in this situation and justify the actions
you would take. (12 marks)
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14 Name three meristematic regionsin a tree. (3 marks)

15 Atwo-stoke machine will turn over but not start. Explain two reasons why this
might happen. (2 marks)

16  State one pathogen and describe two impacts it has on the host. (2 marks)

-+ 7 End of assessment +





